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Enable Mark as Answered Mark for Review and Clear Yes

Response :

Maximum Instruction Time : 0

Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 73659323950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the full form of NCERT ?
NCERT #1 ¢ &7 71 & ?

Note: For this question, discrepancy 1s found in

question/answer. Full Marks 1s being awarded to all
candidates.

Options :
National Centre for Evaluation Reporting and Training
T i WU AN TS v

1.

National Council for Educational Research and Training
, TS Sifeh ATHEN AT IS aivee

National Commission for Evaluation of Research Trainees
TE A T U g S

3.



National Course for Education Research and Teaching
A U (STAT, A ETH {$701 T Ireg e

Question Number : 2 Question Id : 73659323951 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Read the following statements and choose the correct option :

(A) A teacher needs to be a great communicator.

UF [T 1 UF I8 WUGvEdl BT ARl |

(B) A teacher should be strict and relentless.
U [§E F G AW AN M 9l |
Options :
Both A and B are true
| % AAT B 3N 59 §

Both A anfi B are false

B is true, A is false

\ BHAT 2, A 999 ¢

A is true, B is false
4 v ABAE, B AFA &

Question Number : 3 Question Id : 73659323952 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

With regard to Primary Education MDM means :
RIS {37 % €M # THo 3o THo I Adad @ ¢

Options :



Multi Dimensional Method

| % 95 M fafe

Medium Detficiency Meal
> % AT HH Mo

Master Data Management
3w ARCY 3 Y€

Mid Da}' Meal
4 FEE A

Question Number : 4 Question Id : 73659323953 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In order to compile the results of students which of the following would you use ?
BRI % UNIE B HHied H $ 0 A FeiiEd § 9 EEw 39En w7
Options :

MS Word

1

MS PowerPoint

MS Exce_]

3 o T0H T

Fire Fox

4 % DT B

Question Number : 5 Question Id : 73659323954 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



With regard to Primary Education SSA means :
PRI (ST % Hed # SSA # @
Options :
Sarva Shiksha Abhiyaan
| o T TE At

Sarva Shikst}a Aandolan
5w 9 TSI AR

Sarva Shiksha Aayojan
| T T S

Seven Saints Association
4 w T 8T T

Question Number : 6 Question Id : 73659323955 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

It majority of students in your class are weak you should :
qie AU T & ATHIST B PAAR 2 Al AT AT :
Options :
Focus on the weak students only and not care about the intelligent students

| ® Fa AT BE T EM X 3R BE 1 TaE 7 B

Keep your speed of teaching fast so that students comprehension level may

increase

Keep your speed of teaching slow so that weak students can catch up

3w [STEOT AT AT AT GH T AME FAA BH TS H

Keep your teaching slow along with some extra guidance to bright pupils
Jedel fagaiial & WU £ Al ariese & are-ar Auq feeer B
4.



Question Number : 7 Question Id : 73659323956 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Read the following statements in context of the RTE Amendment Act 2019 and
choose the correct option :

Ao Fo 2o (RTE) #AMFEH 2019 % €89 & He # Fiaiad 2 & 72
A. As per the 2019 amendment, it would be left to the states to decide whether
to continue the no-detention policy.
2019 % HSET % FIEAN, T B T8 T9 B B0 6 g T-3E9 Ui
B. A parliamentary standing committee which analyzed the bill has
recommended bringing back the concept of detention in schools.
ATIRN H agE T F FEES R
Options :
A is true, B is false
|« AFIE B IHT
B is true. A is false
, x BAIE, A 98I &

Both A and B are true

Both A and B are talse
4, % A #IT B M w6 B

Question Number : 8 Question Id : 73659323957 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is nof a provision under the RTE Act 2009 ?
M= § @ #F @, 9. 2. (RTE) @WFE9 2009 & ded 949 78 ¢ 7



Options :
Zero tolerance against discrimination and harassment

Ensuring all round development of children

5 % =i & GANIT fab GiisEd B

Ensuring availability of school up to class V within 2 km, in every locality
3 o JOOF T H 2 Al & Ao eV TF Shw A SUwedl giiead H

Maintaining specified pupil teacher ratio

4 % TiGe {9797 iSTEE AU S W@

Question Number : 9 Question Id : 73659323958 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Arrange the following teaching processes in order :

(1) Relating the present knowledge with the previous knowledge
IR @ B 0 9 8 G

(11) Evaluation

(111) Formulating objectives
s AR H

(1v) Presentation of materials

Options :
% (1), (i), (ii1), (iv)

N NONCINGS
s s (V). G, G0, (i)

4 o (i), @), Gv), (i)



Question Number : 10 Question Id : 73659323959 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

‘BalLA’ is an innovative concept towards qualitative improvement in education.
The full form of BaLa is :

'Bal A" STl # ITo% §AI 71 [48T § 0% ANFd AG9RON 31 BaLA &1 99 &9 & :
Options :

Bilingual and localized adminstration
|y TR U3 WhErS USRI (S S wEE g8me)

Building as Learning Aid
5 o SIS TF §T U (AW Fors 3 w7 | i)

Basic and legalized admissions
, x e U3 SFRESS EHISE (9 AR 9 ma)

Beneficial academic learning associations

4 23 él;‘ﬂ FIE sl:m _;Ir:fj.q__'-':\r ﬁ'fﬁ ai;.‘q [“H_:I_\lr-i: [w-,ISIH.:I {'1' ﬂl’f.-'l i: §T-r ﬂ’ﬁ Ts'rﬂu]- ﬁ-a-)

Question Number : 11 Question Id : 73659323960 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Find the next letter in the series A, Z. B, Y., —:
“Eel A,Z, B, Y, —H SE FGT BT
Options :

Lv©



Question Number : 12 Question Id : 73659323961 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Find the first number in the series —, 19, 23, 29, 31 :

Al —, 19, 23,29, 31 § Uesil &1 B

Options :

w12

16

3. %

4.\_“,]7

Question Number : 13 Question Id : 73659323962 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The largest 4 digit number exactly divisible by 88 is :

88 ZNI Uil fawiiad 599 92 4 3iF F den ©
Options :
| v 9944

, » 9768
3 % 9988

, % 8888

Question Number : 14 Question Id : 73659323963 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If1=3,2=53=7,4=9,then7="?
7¢ 1=3,2=5,3=7,4=9,d97="7
Options :
1w 13

5 w13
s %17

4, % 11

Question Number : 15 Question Id : 73659323964 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What code should fill the blank F2, —, D8, C16, B32, ?

e FIS Pl e &M U T SFE 7
F2, —, D8, Cl6, B32,

Options :
| x Al6

3 % G4

4. % E3

Question Number : 16 Question Id : 73659323965 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
Fill in the blank for the series given V, VIII, XI, XIV, —, XX,

Al V, VIIL X1, XIV, —, XX & & =1 1)
Options :

L« XXIII

4 v XVII

Question Number : 17 Question Id : 73659323966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
I I I

L il = , = :
2%5 ° 5%8 O8%]1

Ifa = ..,thena;+a, +... + ajgp="?

1 I 1 =

Z‘ﬁ'- ”]: . y A= . ¥ ﬁ?z ' ...HT ﬂ]'l"a’!l +..+a][}{]: -'I
2*¥5 ° 5%8 7 8%l -

Options :

w12

) % 1/4
3« 25/151

4 % 11/555

Question Number : 18 Question Id : 73659323967 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Choose the number-letter group which is ditferent from the others :

- W I A g &

Options :

| % OE3

, % XD6

3 PH3

, » VK2

Question Number : 19 Question Id : 73659323968 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In a town, 65% people watched the news on television, 40% read a newspaper
and 25% read a newspaper and watched the news on television also. What
precentage of the people neither watched the news on televison nor read a
newspaper ?

UF BT H, 65% wF A Swiide U HHEN odl, 40% J UF §HER 0 U9 AR
25% ¥ UF SAEN W T2 AN Fides W 90 §9EE 3@ A aided & q T

R B R | e | e | s B o E 3
Options :

1. ® 3
. 15

-
4.\'?"0

Question Number : 20 Question Id : 73659323969 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Four words have been given out of which three are alike in some manner, while
the fourth one is different. Choose out the odd one :

AW 9 feu U F, 59E | dF @9 diE § 999 2, SEih A9 U6 ST ¢ 9uE
Options :

Cot
1. v EIC

Sheet
2. %

Quilt

Pillow

4.3;33'&1’?“

Question Number : 21 Question Id : 73659323970 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following are the correct criteria for reservation under EWS
(Economically Weaker Section) ?

3. 359, UH. (A% &1 § FA6E @) & ded AREY & [0 Feiiad § 8§ 3
H 713 @6l o ¢

A. Belongs to General Category
e 4Vl % AT A §
B. Family income below Rs. 8 lakhs per annum
UNa &AM Go 8 @ Tid a4 § FH
C. Illiterate parents
ATIE AT
D. Agricultural land owned by family is less than 5 acres
AR % ®@0Ad il FY 9H S5 TFS | F4 §
E. Residential flat owned by family is less than 1000 sq. ft.
AR % WA am AaEE Re 1000 @ e § #49 §
F. Only one earning member in family
IR # Faq UF BAN df §ee ©
G. Residential plot owned by family less than 200 sq. vards (other than in
notified mincipalities)
200 & a1F § FH 2
Options :

. % B.C.D,EF

, %« C,D,E,F,G

, x D.CCEFEG

, v A.B,D,E.G

Question Number : 22 Question Id : 73659323971 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control

Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which review committee report was titled "Towards Enlightened and Humane
Society" ?

e FHIET |G @ {UIE @ Sus ‘Ta3 UAeEcs U3 EHY diM|Eel’ o1 ?

Options :




Janardhana Reddy Committee

| % T (2T AR

T. S. R. Subramanian Committee

. 1. TH. AN GIAeEH HiH

Ramamurti Committee

3 o AR HEAf

D. S. Kothari Committee
& TH. Fer |

Question Number : 23 Question Id : 73659323972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When was Rashtriya Uchchatar Shiksha Abhiyan (RUSA) launched ?
ST I 91T ANEE ((RUSA) #d & Tham 91 =1 7

Options :

| % 2010

5 % 2011

, % 2012

4 o 2013

Question Number : 24 Question Id : 73659323973 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question



What is the name of the program under which the Government of India will
introduce IND-SAT exam to enroll Asian and African students in Indian
Universities ?

39 FEEH F AW F 5 AEF ded Nd @R TRGE deaidaedt § oiEE A7
AT BET FI G 3 & @ IND-SAT TIam §& HE

Options :

Educqte in India
| T # e

Skill i_n I{]dia
)« A A A

Read _in India
3. % ” ‘-.E._I -Fi -q?_g:-

Study in India
4 TRA H AT

Question Number : 25 Question Id : 73659323974 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the relative fund sharing ratio of Central and State Governments in Sarva
Shiksha Abhiyaan of Central and State Governments 7

F5 AR T SN F 64 (S8 ANEE A adE dREn w1 I /b os f

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.

Options :
1 90:10
, 80:20

5 60:40



4. 40:60

Question Number : 26 Question Id : 73659323975 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Ministry of Human Resource Development and All India Council for Technical
Education (AICTE) initiative with the help of Microsoft launched by the
Honorable President on 9" July, 2017, is called :

AFd §EEH (9| #md AR diad WA gl (SEr 9ivee (AICTE) gar
AHHITE % Feg § #FHE Tgdid g6 9 SaR, 2017 & & & & 9B &
FEl A © -
Options :

Impactful Policy Research in Social Science (IMPRESS)
y Ao fae # gemasdnl i AgEaE (IMPRESS)

1

Learning, Education, Assessment and Performance (LEAP)
5 s GG, fSTE, qeiET AN uesiE (LEAP)

Study Webs of Active Learning for Young Aspiring Minds (SWAYAM)
3 o T A W B W T AW A 9 AT (SWAYAM)

Students Promoting Awareness of Research Knowledge (SPARCK)
L% 9T 59 & S H SNSEal 1 S2mal o dlel 8F (SPARCK)

Question Number : 27 Question Id : 73659323976 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Read the following statement :

Ffad F2 & 9idT
A. NCERT is a professional cn:nunm]
NCERT U Zfd[i4% UHuE &
B. AICTE regulates MBBS program
AICTETH. 1. oI, UH. Tg9%A & AT &l o
C. UGC is a professional council
UGC @& #adias IHuE &
D. BCI regulates education of law
BCI 7 1 {977 1 FEAT &l 2
Which among the statements above are frue 7
SRfeEd @M | F99 qef o ¢

Options :
Aand D

L oAT@D

B and C
2. % B W C

Only A
; x FA9 A
Only C

4.%&?@{:

Question Number : 28 Question Id : 73659323977 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which is the new regulatory authority proposed by New Draft Education Policy
2019 7

T FUE {51 Aild 2019 # @F-H T e d@en 4 S5 3R 6 7

Options :
v NHERA

, » HERA



NKC

3. %

, » SAMARPAN

Question Number : 29 Question Id : 73659323978 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following statement is frue in context of revised NAAC
Accreditation framework 2017 ?
NAAC 2N JF TdF TAIvH OeT % ®ef # Fefaiad § ® #F-91 399 §F 5 7
(A) Share for online evaluation is 70%
AT FewT B A 70% ©
(B) All evaluation will be done online
(C) There is no peer evaluation
(D) Share for peer evaluation is 30%
eIt qHiEA 1 A9 30% ©
Options :
A&D
| oA dED

A B &C

A,B&D

A,B.C&D
, « AB,CHATD

Question Number : 30 Question Id : 73659323979 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The educational radio channel of IGNOU is :

3

Options :
GYANVAANI

1, v TAE
VIDYAVAANI

ECRIEIR

2. %

YUVAVAANI
3. % 3¢

JANVAANI
4, % S

Section B
Section Id : 736593260
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 70
Number of Questions to be attempted : 70
Section Marks : 210
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 736593327
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 73659323980 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Phyllode is a modification of :
fFeTE e =T & ?

Options :
Petiole

v

Stem

Inflorescence

T

4.% 2

Question Number : 32 Question Id : 73659323981 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Potometer is used to measure the rate of :

GreHIeT f6E® 9T & A § 9gE e g ¢
Options :

Respiration

1. ® '

Transpiration

5 TTTIEST

Photosynthesis
5 % TEIST HEEH

Growth

4 % A



Question Number : 33 Question Id : 73659323982 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Fritschiella tuberosa has been regarded as the forerunner of higher plants mainly
because of its which nature ?
9 UHid o 958 ¥ B=delr cZ0e # BT wicd H BRI AT Sl 2 7
Options :
Body differentiated into root, stem and leaf
. ST &3, a1 AN TH &N 99 2

e

1.

Cylindrical coenocytic

2. % 1 rg"ingE Il

Chlorophycean character
; x TARIGRETT $iFT

Heterotrichous habit

EHTRESE BT

4.
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In connection with air pollution the abbreviations PAN and MIC stand
respectively for :
9 YUVl % Ha # PAN dR MIC &1 T0 &9 A F1 & 7
Options :
Particulate Air Nanoparticle and Methyl isocyanide

Peroxyacetyl nitrate and Miximum immission concentration

5 s TN Qfdies Ege ud AR giAe BaEeie




Particulate acetyl nitrate and Methyl isocyanate

o, Ticeic UfEiee TRgsS Ud Al ARHERC

Peroxyacetyl nitrate and Methyl isocyanate

4 T THeT TREiT AR A AREEET
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Question Label : Multiple Choice Question
To which order Nitella belongs ?
FEew [ st # T o E 7
Options :

Nostocales

1. =

Nemalionales

f- :\T .
33 & L

2.

Nidulariales

-

Charales

-

4 o FEE
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Question Label : Multiple Choice Question
A cmnpletely closed ascocarp is called :

UF AT S UEhIM B T Fed § ¢
Options :
Apothecium

[

| w TR



Cleistothecium

Perithecium

Hysterothecium

4 % RO
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Name the author of the book 'Structure and Reproduction of Algae' (2 vol) :
AT UG S HE AE TR (2 vol.) & oE@® & M 0
Options :
G. M. Smith
| % o THo &9

A. Pascher
) ® U I8

F. E. Fritsch
ko ér:r =)

3.¢

Y. Bharadwaja
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The book listing endangered species is also known as :

Options :




Black list book

1

Grey-data book
) % T-31a J&b

Red data book
3 13 3 &P

Thlealened book
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Question Label : Multiple Choice Question

Plants which survive during adverse season through perennating buds buried in
soil such as in bulls are called :

e AW # @ O el @ S T 98 8 83dRd Fd & 9 a1 Hed
g7

Options :
Nanophanerophyte

1. % ) -

Therophyte
2. HANIPIRE

Cryptophytes

Chamaephytes
4, % PHIPRC
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following gas is produced by ruminating cattle during enteric
fermentation ?

Sl &Y Al AdISTEl ST Ued WHeSH | Bi-dl 9 e § 7
Options :

L& CH,

2. % CO,
3. % CO

4. % NH3
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Question Label : Multiple Choice Question
Sericulture is related to the production of :
Himeay 1 | 8 oot § " § 7

Options :
Serum
| % H7H

Snake poison antidote

5w 94 fa9 HidHE

Vaccines

3. %
Silk

Question Number : 42 Question Id : 73659323991 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Appendix in human is an example of :
Uifvz9e 999 # Ed TR & 7
Options :

Homologous organ

l, i@ '.':'-:i__‘;\-uq ?I:PT

Analogous organ
GEIGEEL

2. %

Vestigial organ

Decorative organ
4 % oAl ST

Question Number : 43 Question Id : 73659323992 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

'Book lungs' are respiratory organ of :
Frfafad # | [Fa# a6 o1 ‘9% @) ¢
Options :

Human

T

Ty

Cockroach

2%3]%'?"'2'_g

Scorpion

4. EE]
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Question Label : Multiple Choice Question

Which of the following is known as suicidal bag of the cell 7
Pt # & HF-61 el #1 Ao 9wl 6 7
Options :

Vacuoles

. B
-

Lysosome

2.4

Plastid
3 % 'ETT_'?_'{

Rib::-s:ome

4 % TEAEM
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Chitin occurs in cell wall of :
Options :
Bacteria

1.%¢3§ﬂaTDI

et

Arthropods
, o TS

Virus
3. %



Mollusc
4 % AITED
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following group is uricotelic ?
FHIEd 3 | #F-91 898 JUFc® © ¢
Options :

Mammals
1, % TITE

Reptile
2. i

Amphibian

4

3. 0% W i At

Insect
4. ¢ PIC

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following chromosome composition in human will show female
sexual character ?7

Fefiad d & HF-61 R e ST 6 g9 ¢ 2

Options :

v XX



XXY
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Blood in some animals is bluish due to the presence of :

Options :

Haemoglobin

Y Th  h
IHJWFFHEIFT

M@'Dglcrbin

) x TS

Haemocyanin
el

3.¢

Cytochrome

-
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Silk is obtained from :
T§TH U R I ©

Options :



Adult moth

Caterpillar stage

Detmy Aae]

Eco

oo

L x A9

Cocoon

4. TR
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Neurogenic heart is found in :
SIEEIEREER R EIREIG

Options :
Mammals
L% AT

Birds
2. % Tl

Invertebrate

3. J'E:EEE i

Reptile
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Deficiency of thyroid hormone causes :
A3 BIEAN @1 F491 § I U7
Options :

Cretinism

-

1. ¥

Gigantism

:\
% ORICH

2.

Cryptorchidism
3. % SOV

Addison disease
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Question Label : Multiple Choice Question

Reflex action is controlled by :
Options :
Pineal

e

1. %

Spinal chord

), 1 i

Cranial nerves
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Question Label : Multiple Choice Question

Which of the following pairs is not correctly matched ?
W= g H F e gEe 78 2 7
Options :
CIF; — T — Shaped
| % CIF; — T-A%d™

SFg — Octahedral

) ® SF,E, — A Theihld

XeFg - Octahedral
3 XEF&—'HTEW

XeF, — Square planar

4 s XeFy— T Hcie
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Na+, Mg2+, Al3+ and Si%+ ions are isoelectronic. The value of ionic radii of these
ions would be in the order :

Na+, Mg2+, Al3+ #A¥ Sid+ TN SREoaeIME 51 2%l AdEHs et & a9 &
FH 2T

Options :

Na+ > Mg2+> A3+ > Sid+

1. ¢

, w Nat< Mg+ < AP+ < Sit+

3 % Nat>Mg2t> AP+ < Si+



4 = Na*t< Mgt > AP+> Sit
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Amongst Be?*, Mg2*, Ca?* and Hg?* the ion with minimum polarizing power
1S :

Be2+ , Mg2+, Ca2+ &IT He2* /Al # § §a9 &H ga9 SIiad diel AFA & °

Options :

2+
1. # .
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is not a criterion of equilibrium ?
FeifRd # | BF-81 a3 F4E0 98 ¢

Options :

% (dG) 1,p=0

, o @) Ey>0

s % @ gy=0
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Question Label : Multiple Choice Question

1 ml of 0.1 N HCl is added to 999 ml solution of NaCl, the pH of the resulting
solution will be : ]

999 filo NaCl fawas & 1 f#eflo 0.1 N HCI Feimm 71 | &9 8¢ faedd &1 a9
BT

Options :
1. % 7

v
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Question Label : Multiple Choice Question

For a solution showing negative deviation from Raoult's law, the false statement
18 :

T3re 9H H FOTHSE fa=em TS B i fdeEd 8 W0 FEd B9 ©
Options :

® ﬂ‘ll_]uu'.!ﬂng <0

) ® ﬂ‘l"’rm’!{mg <0

AS >0

3 % mixing



_ il i
4 Piotal > Xa By +x; By
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is not properly matched :
Options :
Transport number — Hittorf method

Theory of strong electrolytes-Debye & Huckel

pH of solutions — Ostwald
R4 i]”q;l &l PH - HAdres

Law of electrolysis — Farada}
i]i}. T AT & M — Bs
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following acids does not exhibit stereo-isomerism 7
M= ol # | 3F-91 o G99 J9aEadl 78 Weieid Bl © 7
Options :

Citric acid

| TEIEE I

Tartaric acid

A T L Lo



Lactic acid

Fumaric acid
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Question Label : Multiple Choice Question

Strecker reaction is used for the synthesis of :
Options :

Ketone
| % AT @ He A

Amino acid

, o T I Hewer |

Aldehyde _ _
, » URSEREE S Hewu |

Alcohol

4 x UTHIEE & HEEO H
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Question Label : Multiple Choice Question

2, 4-dichlorophenoxy acetic acid is used as :
2, 4 - IRFARI GIFEET THITCH I FI TAF Bl B
Options :

Insecticide

| % PlETEE B B0 H



Fungicide
5 % DAPAEEH D BT H

Herbicide
3 TEAEE 3 &9 H

Bactericide
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Question Label : Multiple Choice Question

'Freon' used as refrigerant is :
usiicd & T H Ugad B el HAF B
Options :

Trichloroethane

|y PRI

Ethylene dichloride

Acetylene difluoride

Dichl::-_r::ndiﬂuor_o methane
4 o STEFRIRT SRS He
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Question Label : Multiple Choice Question

Enantiomers can be easily distinguished by :
yicte= &0t § qiea | fave f o dear @

Options :



Melting Point and Boiling Point
| % Toid g F=EEIE H

Chemical tests

5 % THMENS WEI H

Polarimetry

3. 3 |

Spectroscopy
E e K'—' II] ﬁ

4.
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Question Label : Multiple Choice Question

Gravitational waves are :
Options :
Longitudinal and spread with speed of sound

Ao Bl & AR @ 3 Td § JEG Bl

ity

Transverse and spread with speed of light

2¥-Hﬁﬂ?i?;ﬁ%-3ﬁ?ﬂfﬂﬂiﬁlﬁﬁﬁﬂ'ﬂﬁﬂ il 2

Longitudinal and spread with speed of light

s w AGeEl B § AR U A G § R 2 S

Transverse and spread with speed of sound

4w AT B & AR @ @ A § meEia e
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Question Label : Multiple Choice Question
The moment of inertia of a circular disc of mass M and radius R about its
diameter is :
M 2&FM &R R Ben awl gmmr 59 & 93 ore e @m 3 FRE
Ffiad 2l 2
Options :

MR*

% 2

2 MR?

MR*

MR?
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Question Label : Multiple Choice Question

A star i1s moving towards Earth with constant velocity 'v' and emits light of

wavelength "Ao’. The wavelength measured by an observer on Earth will be "A'
such that :

Ao TCICE F1 THIS I BT Al UF aiT gedl & AR &9 W Y § SR
gl W T wEawE g A aeRee A § o tekia = § weiE #r e
r-%_.

Options :
A= ho(1-)
1. v ¢
A= Ao (1+2)
-

2. 8
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Question Label : Multiple Choice Question

Raman effect is caused by the following property of light incident on a molecule :
THT UNE fET A9 O AT G & efeiEd I & $RO G Bl B

Options :
Fluorescence

. S

Inelastic scattering
5 ATCET T

Absorption
5 % AGEIH

Elastic scattering

4, % T T
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Question Label : Multiple Choice Question

Surface tension in a liquid results due to the following type of force between
molecules :

ol 29 § U T AYE # d FMeiiEd 99 B B S Bl g

Options :



Cohesive
L HH AR

Adhesive
) % AHHAT

Gravitational

3, % 3o

-

Nuclear
4, % DI
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Question Label : Multiple Choice Question

Which law of thermodynamics deals with the measurement of disorder in a
macroscopic system ?

FHRICET F FF-81 FEH @ S| §9E § Aeaen @ A 3 o TgE el

g !

Options :
Zeroth law

13331?1%?“

First law

2. %

Second law

3. ¢ ESAL
Third law
4 s T A
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Gamma ray telescope to observe astronomical events is used in the following
setting :

el G Ie § AdwiET @ 99 JgFd B ar A SN e
B9 T 7@l 6 2

Options :
Satellite in space

1 o TE B TEE W

Under ice in Antarctica

FeedicH Fl 9% B WiaT

On mountain top

333‘]%"@&?[%‘?:

Under sea

4 x TF ® IR

Question Number : 72 Question Id : 73659324021 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A material is called a superconductor if it exhibits the following change in its
electrical resistance when its temperature is lowered :

el T # AldEms eF # Wd SHE fdgdE sedd H O dued geM W
=cigd IHad™ 21 =g -

Options :

Resistance decreases gradually

| DT SR-A1Y Fear 3

Resistance becomes zero abruptly

5 o FEANE T g B S ©



Resistance becomes minimum and then increases on further cooling
. I TehT 9 Bl A @ AN AU AERH g U T 9 S 8

3

Resistance is minimum near absolute zero
o, T TEH S A F B9 FAaH Bl ©

4
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A tangent galvanometer works on the following effect of the electric current :
doie AcaaMied fagd O & FeiiiEd g & AT 9 BE Fl 8
Options :

Classical

(Quantum
2, ® FICH

Magnetic

Question Number : 74 Question Id : 73659324023 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A silicon chip is an integrated circuit made on a thin slice of pure silicon crystal
by means of :

[Hiee [ UF dWEea 9 & E S Ml ed @ UF Tl ugl § e
U § ST S B
Options :



Very fine copper wire
x AT Tod dl9 ® dX 9

1.
Photolithography

Optical fiber
3 % A AT §

A diamond point pen
B %l A deil Hed o

4. %

Question Number : 75 Question Id : 73659324024 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

All the chemical elements present on Earth have been originally formed inside
stars by the process of :

ged] O UE SN a9 TEEEE @i B FEY Ji ® 9] Feiad il |

2l B

Options :
Nuclear fission

| AR

Radioactivity

2.8 TS

Nuclear fusion

3 o T HEE

Thermal ionization
4 s T A

Question Number : 76 Question Id : 73659324025 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The existence of microwave radiation was proved by :
g T it @1 Suieria #1 gt fSeiiad
Options :
J. C. Bose
-, o Ho I

G. Marconi

G. Bell
3, % Silo oW

H. Hertz
4, v 0 B

Question Number : 77 Question Id : 73659324026 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Extension education is :
TE 97
Options :

Formal education
| x I fE

Private education

Distance education

s w GO 9

Non formal education

4 o AR T



Question Number : 78 Question Id : 73659324027 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Community Development Programme was launched in India on :
MHd H HHEgE fad FEEd & geeT FeEiiEd ©Hi6 § g
Options :

2™ October, 1952

Y aTe =9
| @ 2 FFEET, 1952

2™ October, 1950
% 2 ST, 1950

2.
2™ October, 1953
3. % 2 HAFdT, 1953
2™ October, 1956
4 % 2 FFET, 1956

Question Number : 79 Question Id : 73659324028 Question Type : MCQ Option Shuffling : Yes Is
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Panchayati Raj System in India is :
TG # Gl T e §
Options :

5 — tier system

| % 5- oo =ae

4 — tier system

, w4 feoT Faen



3 — tier system

30 3- oo aae

2 — tier system
. 2 — [CHT oHae
4, %

Question Number : 80 Question Id : 73659324029 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

An important feature of training is :
TISTeeT %1 U ARVl [Geear ©

Options :

Training is unplanned

|y TIETET U G G e

Training is a scientific process

TSI UF s gfhar ©

2.¥

Training is an individual effort

; o, TTSTEOT U #fra A

[raining does not involve assessment of needs
(=4
- i [ o
4 % iSTee] & AESHhdl A1 STHA A8 ¢

Question Number : 81 Question Id : 73659324030 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The first Home Science College of the country is :
39T (TR) 1 T2 (e Asldeed #

Options :



Lady Harding College

Lady Shri Ram College

2.

Lady Irwin College

Laksmi Bai College

Question Number : 82 Question Id : 73659324031 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

An example of mass method of communication is :
s [ % . =
HA &l 59 H= [ B 0 IR B
Options :
Group meeting

Demonstration

5w TEEH

Field Day
3. ® ENEEE

Newspaper

4, v SAEIT T

Question Number : 83 Question Id : 73659324032 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question
A statement of situation, objective, problems and solutions is referred to as:
TR, Sgev9, §FE @ oM S aFae Fean @

Options :

ngramme_ planning
| % lHchH <l AN

Extension programme

2. o JHIT BEDH

Programme
3. % DIEBA

Project

4. % URSIE

Question Number : 84 Question Id : 73659324033 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The process by which an innovation is communicated through certain channels
among the members of a social system is called :
UF HHiGE A & §eel d [HEl A1 3N TdEdl (F9SH) S B F
Options :

Diffusion

1. IS

Adoption
p % T

Innovation
3 % 28T

Communication
4, % TR



Question Number : 85 Question Id : 73659324034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Banarasi brocade is known as :
Options :

Baftthawa
| s Sl

Kinkhab
ﬁﬁjﬁ{- e

2. ¥

Shabnam
3. %

King's muslin

Question Number : 86 Question Id : 73659324035 Question Type : MCQ Option Shuffling : Yes Is
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Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Figured Muslin is also known as :
ATHICTYFT HTAT Bl S Al B
Options :

Jamdani sari
| v OTHCHT HIST

Baluchar sari

Chanderi sari



Maheswar sari

4w TR R

Question Number : 87 Question Id : 73659324036 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The main centre for kalamkari in Gujarat is :
o | FeAar] $ §ed 3% 8

Options :
Ahmedabad

Rajkot
3. % TPl

Surat

4. % X

Question Number : 88 Question Id : 73659324037 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Variation of plain weave is :
= dfF i fafaear §
Options :

Jacquard weave

Tapestry weave



Twill weave

3. Igadt did

Dobby weave
| « 31 4

Question Number : 89 Question Id : 73659324038 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What does SVGA stand for ?7
SVGA F1 &% 771 & 7
Options :

Standard Visual Graphics Array

Super Visual Graphics Array
, % G fagem miva @

Standard Video Graphics Array

Super Video Graphics Array

Question Number : 90 Question Id : 73659324039 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The sign magnitude representation of —1 is :
—1 9T sign magnitude representation g
Options :
1 = 0001



5 % 1110
3 % 1000

4 1001
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
IEEE stands for:
IEEE &1 1% 2 :
Options :
Instantaneous Electrical Engineering

| w CCIED FRIFRda gullaaiT

Institute of Emerging Electrical Engineers
e AME ZAMT aidedd 2niad

7 ® IR

Institute of Emerging Electronic Engineers

\ w TR G ZE g S

Institute of Electrical and Electronics Engineers

4 v TEEE AN ToaE A F HE

Question Number : 92 Question Id : 73659324041 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

ASCII stands for:

ASCIL &1 &% 8 :

Options :

American standard code for information interchange
Ho ARF-UEH % ®0 SHIND AD HiS

1.¢



American scientific code for information interchange

a1 fateg & o smial aee Hie

American scientific code for international interchange
x ATUEH e & fou Al =S 32

American standard code of international interchange

4 % ATUSEET T F1 AAD AP BIS

Question Number : 93 Question Id : 73659324042 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The 2's complement of 15 is:
15 @&l 2's complement & :

Options :
| % 0000

0001

5 % 0010

. 0100

Question Number : 94 Question Id : 73659324043 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control
Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The decimal equivalent of (0.101), will be :
(0.101), BF-4 THET F97 ® ITSL 207 ¢
Options :

% 05
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Select the incorrect option :
Options :

| % (101),,=(1100101),

G is valid in hexadecimal system
5 » G TAIEMAT T # AT ©

C represents 12
3 % C 12 % gfaiae & &

The base of a decimal number system is 10
4 % SSTRIA ST T F1 A 10 €

Question Number : 96 Question Id : 73659324045 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is nof basic data type in C language ?
Frefafad # § @A C Wl § UF JFEE 36T 991 78 © ¢
Options :

L% float

, % Int



3 real

char

Question Number : 97 Question Id : 73659324046 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a type of computer code ?
= # | #F 05 UEN F 591 FIS T8 © ¢
Options :

« EBCDIC

, « BCD

. ASCII

, v EDIC

Question Number : 98 Question Id : 73659324047 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The result obtained on binary multiplication of 1010 * 1100 is :
1010 * 1100 % B o0 I AT oA 2

Options :
| = 0001111
> % 0011111

5 % 1111100



4 1111000

Question Number : 99 Question Id : 73659324048 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The expression of an XOR gate is :
TF XOR T % AR © :
Options :

L A'B+AB'

, % AB+A'B’

3 % A+A.B

L % A4B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
ARPANET stands for :
ARPANET &l &% & :
Options :
Advanced Research Project Agency Network
o T STIHG A Sl Seaw

1.

Advanced Research Programmed Auto Network

Advanced Research Project Automatic Network
3 % 9 SIPHEN UGN WEiad Tead




Advanced Research Project Authorized Network

4 s ST STTEEN G SfEd ead




